FIN 2200 – CORPORATION FINANCE

Sum, 2007
Instructors: A. Dua, 
Assignment #1


NOTE: This assignment is to be handed in! But only questions 5, 6, 11-13, 15, 20, 22, 23, 25, 28 29 will be marked (for a total of 12 marks). Only correct final answers will be given credit. 
1. Firms issue securities or financial instruments (or claims) to raise capital. Give several words (or terms) used to classify these claims.
2. Indicate the five key components that comprise the balance sheet. 
3. Indicate how the value of a firm is created and recognized over time.
4. Indicate the factors used in finance to determine what the value of an investment made by the firm depends on.
5. The Simple Corporation has outstanding obligations to the Complex Corporation of $250. It is year-end and the total cash flow of Simple from all sources is $325. What is the contingent payoff to the debt-holders and the equity-holders?
6. The Splitz Corporation has borrowed $5 million in debt with a promise to repay $5.5 million in one year.  The corporation had 10 million shares outstanding worth $2 each at the time of the borrowing.  Splitz earns $6 million during the year. What is the debt-holder's contingent claim; how much do the debt-holders receive; and, how much do the equity holders receive? 
7. What techniques do shareholders use as they attempt to control managerial behavior?
8. Describe the characteristics of intangible assets and provide several examples.
9. Explain what is meant by the expression “Debt is a contractual obligation.”. 
10. For financial management purposes, why is it useful to look at time in two distinct parts? 
11. The TimeNow Corporation had 2001 fixed assets of $1345, current assets of 260, current liabilities of 180 and shareholder's equity of 775. The 2000 fixed assets were 1300, current assets of 220, long-term liabilities of 610 and shareholder's equity of 750. What was the change in net working capital for TimeNow in 2001? 
12. From the following income statement information, calculate Johnson Corp.'s after tax cash flow from operations.
Net sales = 
$ 2,500
Cost of goods sold =
$ 1,050
Operating expenses =
$    490
Depreciation = 
$    300
Tax rate = 
34%
13. Over the year, the Rigem Co. had cash flow from operations of $938, and had net capital spending of $225. In addition, the firm's Net Working Capital increased by $73. What was Rigem's total cash flow? 

14. Explain what is meant by “clearing the market” indicating clearly how this occurs.

15. An individual with no investment opportunities has income of $5,000 in period 0 and income of $6,000 in period 1. If the interest rate is 5%, provide several examples of possible consumption patterns.
16. What does the straight line that connects the maximum that one can consume in Year 0 with the maximum that one can consume in Year 1 represent? Calculate its slope.
17. An individual with no investment opportunities has income of $15,000 in period 0 and income of $10,000 in period 1.  If the interest rate is 7%, identify several points on the individual's consumption possibility line? 
18. Explain fully the process of arbitrage indicating clearly the eventual result of arbitrage opportunities. 
19. Identify the first or basic principle of finance that dictates whether individuals will invest in a project or not. 
20. You have an investment opportunity available to you that requires $400,000. You have no funds available but you will have income of $120,000 this year. The investment will have a net payoff $33,000 at the end of the year. If the market rate is 7.5%, will you make the investment and why? 
21. Explain what could cause the consumption opportunity set to move further out (to the right) when an investment opportunity is available. 
22. You have an investment opportunity available to you that requires $400,000.  You have no funds available but you will have income of $120,000 this year.  The investment will have a payoff $433,000 at the end of the year.  If the market rate is 8.25% what is the net present value? 
23. An individual has $60,000 income in period 0 and $30,000 income in period 1. If the individual desires to consume $19,000 in period 1 and the market interest rate is 8%, what is the maximum amount of consumption in period 0? 
24. An individual has income of $40,000 in period 0 and $45,000 in period 1.  An investment opportunity that costs $10,000 in period 0 is worth $11,000 in period 1.  Explain why it is not possible to determine the maximum possible consumption in period 0 if the individual consumes $50,000 in period 1. 
25. An individual has income of $35,000 in period 0 and $40,000 in period 1.  An investment opportunity that costs $10,000 in period 0 is worth $11,800 in period 1.  What is the maximum possible consumption in period 0 if the individual consumes $50,000 in period 1 when the market rate of interest is 8%? (Ans = $26,667)
26. Explain how corporate managers can maximize shareholder wealth by choosing positive NPV projects. 
27. A corporation has the following opportunity to invest in a project with a return of $46,900 in one period.  The current investment required is $42,000. The financial market rate is 7%.  What are the NPV and the investment decision? 
28. Your earnings are $50,000 at t = 0 and $60,000 at t = 1. The market rate of interest is 15%. An investment opportunity is available that allows you to invest $40,000 at t =0 and receive $45,000 (with certainty) at the end of one year. If you decide to consume $55,000 this year (t = 0), your maximum consumption next year (t = 1) will be (Ans = $54,250)
29. The director of capital budgeting at ABC Corporation has found a one-year project that requires an initial outlay of $12 million but will result in a positive NPV of $500,000. She estimates the one-year return on this project to be 25%. What market rate of interest is implied? (Ans = 20%)
